|

DREROMEEOE © OO

S ©
.

103.

ObO3HAYEHNE

OlMMCAHRNE

K-B0

) 1.00.01 [llauda cmonopHas 3
2 1.00.02 [lpuxum PAX 1
3 1.00.03 [on06a PAX 1
4 1.00.04 Kpsiwka VeriFon820 | 1
5 1.00.05 [on0B8a VeriFon820 1
6 T 00.06 Bmyska n0/_IUMud 2
YepHbIU
7 1.00.07 (monopHoe ko/byo 2
8 1.00.08 Bmyska 1
9 1.01.00 [lneyo 2
10 1.02.00 OcHoBaHue 20/108b1 1
11 1.03.00 Y3esn Hak/oHa 1
12 1.04.00 [lneyo 1
13 TCmon.01.00 OcHoBaHue 1
14 3aenywka Ha P25 1
/5 bosm ¢ kBadpamHseiM nodzoobHUKkoOM y
M6X55 DIN 603
16 Uauda D 10 namyHs DIN 125 /lamyHb 6
17| Waaoda D 6 FOCT 11371 ou. (DIN 125) 1
18 BuHm ycmaHob ¢ 6Hymp wecm M5 x 6 p
DIN 913
19 [auka camokoHmpswas M10 DIN 985 3
20 [auka CGMOKOHm?DL;LL(aFI M6 DIN 985 /
oy,
21\Bursm M5 x 12 noayyun. DIN 7985 ou. 1
22| Buvm M4 x 6 nosayyun. DIN 7985 ou. 6
23| Buum M4 x 12 nomau. DIN 965 ou. 4
24| Wauda D 6 ybBesn namyus DIN 9021 /lamyHb 2




